ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying anumber by 2 results in what type of answer? Odd or Even?

2) Based on the information in the table which choice BEST shows the answer
to 1 x 9067
906 899 904 909

3) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the product
of 5and 716?
3,588 3,581 3,577 3,580

5) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

6) Based on the information in the table which choice BEST shows the answer
to 2 x 227?
457 454 455 451

7) Based on the information in the table which choice BEST shows the answer
to 10 x 8197
8,190 8,191 8,194 8,192

8) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

Answers

Math

www.CommonCoreSheets.com 1

1-8 |88]75

63|50|38]25[13] 0 |




ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying anumber by 2 results in what type of answer? Odd or Even?

2) Based on the information in the table which choice BEST shows the answer
to 1 x 9067
906 899 904 909

3) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the product
of 5and 716?
3,588 3,581 3,577 3,580

5) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

6) Based on the information in the table which choice BEST shows the answer
to 2 x 227?
457 454 455 451

7) Based on the information in the table which choice BEST shows the answer
to 10 x 8197
8,190 8,191 8,194 8,192

8) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

Answers
1 even
2 906
3 even
4 3,580
5 odd
6. 454
7 8,190
8 even
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Based on theinformation in the table which choice BEST shows the answer
to 1 x 5967
602 592 597 596

2) Based on the information in the table which choice BEST shows the product
of 5 and 1667?
837 830 821 831

3) Based on the information in the table which choice BEST shows the answer
to 10 x 2307
2,291 2,299 2,295 2,300

4) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

5) Multiplying a number times 10 resultsin a in the ones place.

6) Based on the information in the table which choice BEST shows the answer
to 2 x 279?
558 557 555 561

7) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

8) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

Answers
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ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100

IO INIDN
OO Wlw
IR ES
5B oo

=
N
=
(e}
N
(@)

Ol N0 DR WIN R
e =
OB~ N|IO
NN
A | 0|01
WIN|ININ
N| oo &|O
-ISOOOJN
o1 O| ol

H
o
N
\l
w
o))
IS
o1

|B|©|OO|\I|CD 01|J>|oo||\.>||—\ X

10| 20

w
o
SN
o
a
o

1) Based on theinformation in the table which choice BEST shows the answer
to 1 x 5967
602 592 597 596

2) Based on the information in the table which choice BEST shows the product
of 5 and 1667?
837 830 821 831

3) Based on the information in the table which choice BEST shows the answer
to 10 x 2307
2,291 2,299 2,295 2,300

4) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

5) Multiplying a number times 10 resultsin a in the ones place.

6) Based on the information in the table which choice BEST shows the answer
to 2 x 279?
558 557 555 561

7) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

8) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

Answers

1 596

2. 830

3 2,300

a4 odd

5, 0

6. 558

; even

8 even
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying anumber by 2 results in what type of answer? Odd or Even?

2) Multiplying a number times 10 resultsin a in the ones place.

3) Based on the information in the table which choice BEST shows the product
of 5and 104?
513 520 522 524

4) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

5) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

6) Based on the information in the table which choice BEST shows the answer
to 10 x 4627
4,620 4,615 4,613 4,618

7) What will 5 x 316 have in the ones place? 5 or 0?

8) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

Answers
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ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying anumber by 2 results in what type of answer? Odd or Even?

2) Multiplying a number times 10 resultsin a in the ones place.

3) Based on the information in the table which choice BEST shows the product
of 5and 104?
513 520 522 524

4) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

5) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

6) Based on the information in the table which choice BEST shows the answer
to 10 x 4627
4,620 4,615 4,613 4,618

7) What will 5 x 316 have in the ones place? 5 or 0?

8) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

Answers

1 even

2 0

3. 520

4 even

5 odd

6. 4,620

7 0

8 even
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

(o ~INIDN

OO WwW|w

(eI SN N

6|7|8]9]|10]
678 9 10
10[12 14 16|18 20
12/ 151821 24 |27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
40/ 50[ 60| 70 80 90 100
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1) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

2) Multiplying a number by 2 results in what type of answer? Odd or Even?

3) What will 5 x 406 have in the ones place? 5 or 0?

4) Based on the information in the table which choice BEST shows the answer
to 1 x 737?
745 737 731 732

5) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

6) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

7) Multiplying a number times 10 resultsin a in the ones place.

8) Based on the information in the table which choice BEST shows the answer
to 10 x 8127
8,120 8,116 8,127 8,117

Answers
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ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

2) Multiplying a number by 2 results in what type of answer? Odd or Even?

3) What will 5 x 406 have in the ones place? 5 or 0?

4) Based on the information in the table which choice BEST shows the answer
to 1 x 737?
745 737 731 732

5) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

6) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

7) Multiplying a number times 10 resultsin a in the ones place.

8) Based on the information in the table which choice BEST shows the answer
to 10 x 8127
8,120 8,116 8,127 8,117

Answers
1 odd
2 even
3 0
4 737
5 even
6. even
7 0
8. 8,120
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.
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6|7|8]9]|10]
678 9 10
10[12 14 16|18 20
12/ 151821 24 |27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
40/ 50[ 60| 70 80 90 100
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1) What will 5 x 390 have in the ones place? 5 or 0?

2) Multiplying a number by 2 results in what type of answer? Odd or Even?

3) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the answer
to 2 x 141?
279 281 285 282

5) Based on the information in the table which choice BEST shows the answer
to 10 x 8377
8,367 8,379 8,370 8,365

6) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

7) Multiplying a number times 10 resultsin a in the ones place.

8) Based on the information in the table which choice BEST shows the answer
to 1 x 278?
275 276 278 282

Answers
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

Answer Key

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) What will 5 x 390 have in the ones place? 5 or 0?

2)

3)

4)

5)

6)

7)

8)

Multiplying a number by 2 resultsin what type of answer? Odd or Even?

Multiplying an odd number times an odd number resultsin what type of
answer? Odd or Even?

Based on the information in the table which choice BEST shows the answer
to 2 x 141?

279 281 285 282

Based on the information in the table which choice BEST shows the answer
to 10 x 8377

8,367 8,379 8,370 8,365

Multiplying an even number times an even number results in what type of

answer? Odd or Even?

Answers
1 0
2 even
3 odd
a, 282
5, 8,370
6. even
7 0
8. 278

Multiplying a number times 10 resultsin a in the ones place.
Based on the information in the table which choice BEST shows the answer
tolx 278?
275 276 278 282
1-8 [88]75]63]50]38|25[13] 0 |
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.
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6|7|8]9]|10]
678 9 10
10[12 14 16|18 20
12/ 151821 24 |27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
40/ 50[ 60| 70 80 90 100
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1) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

2) Multiplying a number by 2 results in what type of answer? Odd or Even?

3) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the product
of 5 and 765?
3,827 3,821 3,825 3,822

5) Based on the information in the table which choice BEST shows the answer
to 2 x 4217
841 839 842 845

6) What will 5 x 763 have in the ones place? 5 or 0?

7) Multiplying a number times 10 resultsin a in the ones place.

8) Based on the information in the table which choice BEST shows the answer
to 1 x 8127
806 809 812 811

Answers
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ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

2) Multiplying a number by 2 results in what type of answer? Odd or Even?

3) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the product
of 5 and 765?
3,827 3,821 3,825 3,822

5) Based on the information in the table which choice BEST shows the answer
to 2 x 4217
841 839 842 845

6) What will 5 x 763 have in the ones place? 5 or 0?

7) Multiplying a number times 10 resultsin a in the ones place.

8) Based on the information in the table which choice BEST shows the answer
to 1 x 8127
806 809 812 811

Answers

1 even

2 even

3 odd

4 3,825

5, 842

6 S

7 0

8. 812
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Based on theinformation in the table which choice BEST shows the answer
to 10 x 7587
7,586 7,580 7,571 7,574

2) Based on the information in the table which choice BEST shows the product
of 5 and 332?
1,659 1,663 1,667 1,660

3) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the answer
to 2 x 735?
1,470 1,471 1,473 1,469

5) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

6) Based on the information in the table which choice BEST shows the answer
to 1 x 354?
354 347 363 359

7) Multiplying a number times 10 resultsin a in the ones place.

8) Multiplying a number by 2 results in what type of answer? Odd or Even?

Answers
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ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Based on theinformation in the table which choice BEST shows the answer
to 10 x 7587
7,586 7,580 7,571 7,574

2) Based on the information in the table which choice BEST shows the product
of 5 and 332?
1,659 1,663 1,667 1,660

3) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the answer
to 2 x 735?
1,470 1,471 1,473 1,469

5) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

6) Based on the information in the table which choice BEST shows the answer
to 1 x 354?
354 347 363 359

7) Multiplying a number times 10 resultsin a in the ones place.

8) Multiplying a number by 2 results in what type of answer? Odd or Even?

Answers

1 7,580

2 1,660

3. even

4 1,470

5 even

6. 354

7 0

g even
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying an odd number times an even number resultsin what type of
answer? Odd or Even?

2) What will 5 % 205 have in the ones place? 5 or 0?

3) Multiplying a number times 10 resultsin a in the ones place.

4) Multiplying a number by 2 results in what type of answer? Odd or Even?

5) Based on the information in the table which choice BEST shows the answer
to 10 x 9587
9,585 9,580 9,584 9,574

6) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

7) Based on the information in the table which choice BEST shows the product
of 5 and 2607?
1,300 1,303 1,306 1,292

8) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

Answers
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ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying an odd number times an even number resultsin what type of
answer? Odd or Even?

2) What will 5 % 205 have in the ones place? 5 or 0?

3) Multiplying a number times 10 resultsin a in the ones place.

4) Multiplying a number by 2 results in what type of answer? Odd or Even?

5) Based on the information in the table which choice BEST shows the answer
to 10 x 9587
9,585 9,580 9,584 9,574

6) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

7) Based on the information in the table which choice BEST shows the product
of 5 and 2607?
1,300 1,303 1,306 1,292

8) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

Answers

1 even

2, S

3 0

4. even

5, 9,580

6. even

7. 1,300

8 odd
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

1)

2)

3)

4)

5)

6)

7)

8)
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(eI SN N

6|7|8]9]|10]
678 9 10
10[12 14 16|18 20
12/ 151821 24 |27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
40/ 50[ 60| 70 80 90 100
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Answers

Based on the information in the table which choice BEST shows the answer
to 1 x 842? 8.
842 845 844 837
What will 5 x 574 have in the ones place? 5 or 0?
Multiplying a number times 10 resultsin a in the ones place.
Based on the information in the table which choice BEST shows the answer
to 10 x 9027
9,013 9,026 9,021 9,020
Multiplying an odd number times an even number resultsin what type of
answer? Odd or Even?
Based on the information in the table which choice BEST shows the answer
to 2 x 274?
551 548 545 549
Multiplying a number by 2 resultsin what type of answer? Odd or Even?
Based on the information in the table which choice BEST shows the product
of 5 and 874?
4,372 4,370 4,361 4,364
1-8 [88]75]63]50]38|25[13] 0 |
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ﬂé Examining a Multiplication Table Name:

Answer Key

Use the multiplication table to answer the questions.

1)

2)

3)

4)

5)

6)

7)

8)

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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Based on the information in the table which choice BEST shows the answer
to 1 x 842?

842 845 844 837

What will 5 x 574 have in the ones place? 5 or 0?

Multiplying a number times 10 resultsin a in the ones place.

Based on the information in the table which choice BEST shows the answer
to 10 x 9027

9,013 9,026 9,021 9,020

Multiplying an odd number times an even number resultsin what type of

answer? Odd or Even?

Answers

1 842

2. O

3. 0

4 9,020

5 even

6. 548

7 even

8. 4,370

Based on the information in the table which choice BEST shows the answer
to 2 x 274?
551 548 545 549
Multiplying a number by 2 resultsin what type of answer? Odd or Even?
Based on the information in the table which choice BEST shows the product
of 5and 8747
4,372 4,370 4,361 4,364
1-8 [88]75]63]50]38|25[13] 0 |
M at h www.CommonCoreSheets.com 9



ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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1) Multiplying an odd number times an odd number results in what type of
answer? Odd or Even?

2) Based on the information in the table which choice BEST shows the answer
to 10 x 6917
6,916 6,915 6,910 6,908

3) Multiplying an even number times an even number results in what type of
answer? Odd or Even?

4) Based on the information in the table which choice BEST shows the answer
to 2 x 739?
1,478 1,475 1,479 1,477

5) Multiplying an odd number times an even number results in what type of
answer? Odd or Even?

6) Multiplying a number times 10 resultsin a in the ones place.

7) What will 5 x 613 have in the ones place? 5 or 0?

8) Based on the information in the table which choice BEST shows the answer
to 1 x 815?
817 815 816 818

Answers
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ﬂé Examining a Multiplication Table Name:

Use the multiplication table to answer the questions.

1)

2)

3)

4)

5)

6)

7)

8)

Answer Key

6|7|8]9]|10]
678 9 10
1214 16|18 20
18|21 24|27 30
24|28 3236 | 40
30|35 40 4550
36| 42| 48 | 54| 60
42|49 566370
4856 64|72 80
54|63 72 81|90
60 70 80 | 90 [100
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Multiplying an odd number times an odd number resultsin what type of
answer? Odd or Even?

Based on the information in the table which choice BEST shows the answer
to 10 x 6917
6,916 6,915 6,910 6,908

Multiplying an even number times an even number results in what type of
answer? Odd or Even?

Based on the information in the table which choice BEST shows the answer
to 2 x 739?
1,478 1,475 1,479 1,477

Multiplying an odd number times an even number resultsin what type of
answer? Odd or Even?

Multiplying a number times 10 resultsin a in the ones place.

What will 5 x 613 have in the ones place? 5 or 0?

Based on the information in the table which choice BEST shows the answer
to 1 x 815?
817 815 816 818

Answers

1 odd

2 6,910

3. even

4 1,478

5 even

6 0

7 5

8. 815
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